Operations with Two Fractions (G)

Date:

Name:
1 §+2
202
, 3.1
372
3 §+£
3 4
, 2.1
17 %
40 7
5, — — —
9 3
1.4
273
L 1B,
5 15
. B_1
5 5
9 31
9, =— — —
5 20
0 11><2
-5 9

Calculate each result.

Score:
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Operations with Two Fractions (G) Answers

Date: Score:

Name:
1 §+2
202
, 4_1
372
3 §+£
3 4
, 2.1
17 %
40 7
5, — — =
9 3
1.4
273
BEEERNC
5 15
q 23 11
5 5
9 31
9, =— — —
5 20
o, Ly 2
5 9

Calculate each result.

_5+9_14_ _
22 2 1
4 2 8 2
= 3%X1 T 3 T %
_32,5_ 8 _ (1l
12 12 0 12 0 12

5.6 _ 30 _ 15
4717 68 34

4 2 1,1
9 9 9
- 1,3 _ 3
274 T8

_39,68 _107 _ .2
15 15 15 15
23 11_12_2
5 5 5
_3%_ 3 _ 5 _ 1
20 20 20 4
_oz

45
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